Notes: 3-6 Perpendiculars and Dlstanc 3014

Distance: The distance from a line to a point not on the line is 2

the length of the perpendicular segment from the point to the AE
line.

Construct the distance that represents the given information.

Cto AB 2.Dto AB
C

1) Construct a line perpendicular to [ through H(—1, 3). Then find the distance from H to L.
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3 Find the intersection point
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4- Find the d/stance from both points
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Distance between two parallel lines: The perpendicular distance between one of the lines and any
point on the other line:

Steps to find the distance between two parallel lines

7- Graph the lines

2. Use one y-intercept and perpendicular slope to find the equation of the perpendicular
line-

3- Find the intersection point between the perpendicular line and other parallel line-

4- Solve the system ‘ ‘

5. Find the distance:
Find the distance between each pair of parallel lines with the given equations.
2) y=2x+2, y=2x—3
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3) y=-3, y=1
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